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% 1. Hybrid 12-bus test system©] @A %
Sbase = 10 MVA, Vac_base = 4.16 kV, Vdc_base = 6.8 kV
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# 1. Hybrid 12-bus test system®] @A fo]g
Load Generator
Bus Voltage Angle Active Reactive Active Reactive
No. [P.U.] [°] Power Power Power Power
[MW] [MVAR] MW] [MVAR]
1 1.06 0 - - - -
2 - - 1.75 0.3 - -
3 _ _ _ _ - _
4 _ _ _ _ - _
5 - - 1 - - -
6 - - 0.75 - - -
T - TEm
38 _ _ _ _ - _
9 - - 1.2 0.3 - -
10 - - - - - -
11 1 - 1.5 0.3 1.2 ax: 40
12 - - 2 0.75 - -

& 2. Hybrid twelve-bus test system@] A2 H|o]H

From To Resistance | Reactance From To Resistance | Reactance
Bus Bus [R] [R] Bus Bus [Q] [R]
1 2 0.2218 0.3630 6 7 0.2208" -
1 12 0.2218 0.3630 7 8 0.4415" -
2 3 0.0500 0.7540 8 9 0.0500 0.7540
2 4 0.0500 0.7540 9 10 0.2218 0.3630
3 10 0.8830° - 10 11 0.0500 0.7540
4 5 0.4415 - 11 12 0.2218 0.3630
5 6 0.2208" -

* DC resistances
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(a) @ AAA 17 doEx Z, =501 [P.UJE 2+ BY 34 1A
(b) @ A-A 1 JdMEA Z, =501 [P.UJE 2= 14 A At
(c) @ AIdolM g doEa Z,=50.1 [P.UJE 2= ALF &= AR
100MVA 100MVA,
13.8KV 13.8kV
X,=0.15 [p.u.] X;=0.20 [p.u.]
X,=0.17 [p.u.] X,=0.21 [p.u.]
- X,=0.10 [p.u.]
X,=0.05 [p.u.] @ L12 o
X;=X,=0.1 [p.u.] X,=0.05 [p.u.]
Xp=0.3 [p.u.]
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X=0.10 [p.u.] X =0.10 [p.u.]
13 3. AC Ay DA e
I 3. 2A 3 A% mietolg
Item MVA Rating Voltage Rating X X, Xy
G1 100 13.8 kV 0.15 0.17 0.05
M1 100 13.8 kV 0.20 0.21 0.10
T1 100 13.8 /138 kV 0.1 0.1 0.1
T2 100 138 /13.8 kV 0.1 0.1 0.1
L12 100 13.8 kV 0.1 0.1 0.3
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